Calculus BC – Chapter 1 - Even Answers (F.T.D.W.)
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Section 1.1

2. (1.5, 17.5), (10, 100)

4. [-42, 53] by [-89, 31]

6.  (xMax – xmin)/25 = 0.1 

(yMax – ymin)/25 = .04

so xScl = 0.1 , yScl = .05

8.  8 so take xScl = 10

    .16 so take yScl = 0.5

10. x = 1 & y = 1

12. 
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14. x = 1 & 
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16. (b)

18. (c) 

20. (d)

22. x = 4/5 & y = 4

24. x = -2 & y = -12

26. 
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28. x = .86, 3.14 & y = -8

high point: (2,4)

30. x = -1, 0, 1 & y = 0

high pt: (-.57, .77)

low pt: (.57, -.77)

32. x = -2.30, 1, 1.30 

y = -1 , high pt: (-1.15, 6.08)

low pt: (1.15, -.079)

34. x = 2.14 & y = -5

high point: (.832, -3.495)

low point: (1.00, -3.500)
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38. (N, M) = (127, 63)
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40. (N, M) = 127, 63) 
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42. (b) and (c) require a stop
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Section 1.3 (continued)
34. even

36. neither

38. odd

40. neither

42. even

44. x-axis symmetry

46. y-axis symmetry

48. x-axis symmetry

50. symmetry about 
both axes & origin

52. y = |x – 2|

54. #53 shifted right 1

56. 
[image: image10.wmf]0,0

,0

x

y

xx

£

ì

=

í

>

î


58. (a) graph:
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(b) -1, 0, 
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60. (a) graph:
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(b) 1, 0, 
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62. (a) graph:
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(b) 1, 0, 1, 4

64. 
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66. They are equal iff

      x is an integer.
Calculus BC – Chapter 1 - Even Answers (F.T.D.W.)
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Section 1.4 (continued)

54. Darkest Graph
[image: image21.jpg]



56.
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58. 
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60. V(-2, -5)

axis: x = -2

62. V(3/2, 6)

axis: x = 3/2

64. 
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66. 
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Section 1.5

2. 
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4. x = 0

6. 
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8. x = 0

Section 1.2


2. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


10. 5


12. 5/3


14. � EMBED Equation.DSMT4  ���


16. 5


18. 4.1


20. 2/7


22. (a) -1    (b) 4/3


24. (a) � EMBED Equation.DSMT4  ���  (b) 0


26. y + 1 = -1(x – 1) 


28. y – 1 = -1(x + 1)


30. y – 0 = -2(x – a )


32.  y = 1


34. x = -2 


36. y – 3 = -1(x – 1) 


38. y = -x + 2


40. � EMBED Equation.DSMT4  ���


42. � EMBED Equation.DSMT4  ���


44. x = 2, y = 2


46. x = 2, y = -4


48. x = -4, y = -2


50. x = -2, y = 3


52. x = 2a, y = 2b


54. � EMBED Equation.DSMT4  ���


d(P,L) = 3


56. y = -2x +4


d(P,L) = � EMBED Equation.DSMT4  ���


58. y = 4


	d(P,L) = 7


60. y = 3x – 5


62. y = -x + 1





64. (a) |y + 1.3|


      (b) |y – 5.5|


66. 5


68. � EMBED Equation.DSMT4  ���


70. Fiber Glass 


vs gypsum wall board (poorest)


72. y = x – 1 


74. 40.249 ft


76. (a) d = 55t+d0


(c) m = 55


(d) before 1 pm


(e) d0 = 40 mi.


78. (a) k = -2


(b) k = 2


80. Use point-slope form to find the equation of the line that goes  thru (x1 , y1) � EMBED Equation.DSMT4  ��� to Ax + By + C = 0. Then find the intersection point (x2 , y2 ) and use the distance formula. 





Section 1.3


*Vertical Line Test


2. yes


4. no


6. (a) (-2, -2)


(b) (2, 2)


(c) (2, -2)


8. (a) (-1, 1)


(b) (1, -1)


(c) (1, 1)








10.(a) (� EMBED Equation.DSMT4  ���,� EMBED Equation.DSMT4  ���)


(b) � EMBED Equation.DSMT4  ���


(c) � EMBED Equation.DSMT4  ���


12. (a) (2, 0)


(b) (-2, 0)


(c) (-2, 0)


14. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


16. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


18. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


20. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


22. D = Reals


� EMBED Equation.DSMT4  ���


y-axis symmetry


24. D = Reals


R = Reals


No symmetry


26. D = Reals


R = Reals


No symmetry


28. � EMBED Equation.DSMT4  ���


R = � EMBED Equation.DSMT4  ���


y-axis symmetry


30. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


y-axis symmetry


32. (a) no


(b) no


(c) no


(d) (0, 1] 





68. Integer Ceiling Function, � EMBED Equation.DSMT4  ��� is the integer part of only negative decimals or zero.


70. Notice singular or cusp (sharp) points when x = -2 and 1


72. Singular points at x = -2, 0, -1


74. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


but � EMBED Equation.DSMT4  ���


76. (a) 0


(b) 0


(c) 1


(d) 1


(e) x


(f) x


78. (a) � EMBED Equation.DSMT4  ���


(b) 4t


80. D = Reals


R: � EMBED Equation.DSMT4  ���


82. x2 


84. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


86. Minimum value for � EMBED Equation.DSMT4  ��� so put the machine between machine #2 and #3





Section 1.4


2. y = x2 + 3


    y = x2 – 5 


4. (a) y = (x + 2)2


(b) y = (x – 4)2 + 1


(c) y = (x + 1)2 – 4 


(d) y = (x – 2)2 – 3 


6. right 3, up 2


8. flip upside-down, shrink (in the vertical direction) by a factor of 0.2 and reflect about the 


y-axis too!


10. flip (reflect about the x-axis, shrink by a factor of 0.5 then finally shift up 1


12. Stretch vertically by a factor of 3, reflect across the y-axis and then lower the curve by 5 units


14. Stretch vertically by a factor of 2, shift right 3 & down 5


16. D = Reals


R =� EMBED Equation.DSMT4  ���


18. D =� EMBED Equation.DSMT4  ���


R =� EMBED Equation.DSMT4  ���


20. Shift right 2


D: � EMBED Equation.DSMT4  ���


R: � EMBED Equation.DSMT4  ���


22. D =� EMBED Equation.DSMT4  ���


R =� EMBED Equation.DSMT4  ���





24. D = Reals


R = {n + .5 | n � EMBED Equation.DSMT4  ��� Integers}


26. y = 3x2 + 4


28. � EMBED Equation.DSMT4  ���


30. y = .3|x–3|–1


32.� EMBED Equation.DSMT4  ���


34.� EMBED Equation.DSMT4  ���


36. y = 8|x| – 3


38. y = 2|x| in both cases


40. The 2nd graph is 1.6 units lower


42. (a) y-axis reflection


(b) x-axis reflection


(c) reflection about the point (0,0)


44. � EMBED Equation.DSMT4  ���


46. (-2, -3) 


(-1, -4)


(0, -3)


48. (-1, 4.3)


(0,4)


(1, 4.3)


50.


�


52.


�








10. 3 roots (zeroes)


*This takes awhile at first as you try to ‘zero in’ on the zero (x-intercept or root)! This screen shot has an Xwindow = [-1.931, -1.930] with tick marks XScl = .0001


Our 1st root is � EMBED Equation.DSMT4  ���


You have to change the y-window also and YScl so the curve is steeper to easily see the x-intercept location.


�


Here’s a screen shot from x = 0 to x =1 with 10 tick marks, XScl = .1 so our next window will be [.8, .9] with XScl = .01 changing the 


y-window so that… 


�


Not too precise but let’s say our 2nd root is � EMBED Equation.DSMT4  ���


Etc…


The 3rd root is between 1.8608 and 1.8609


12. -4, 3


14. 3.25


16. -11.67, -6.66, -.67


18. All True


20. -4, 10


22. 0, 2


24. 0, 4














26. -3 < y < -1


28. [-30,30]


30. � EMBED Equation.DSMT4  ���


32. � EMBED Equation.DSMT4  ���


34. � EMBED Equation.DSMT4  ���


36.� EMBED Equation.DSMT4  ���


38. x < -5/3 or x > 1/3


40. [-5/2,5/2]


42. � EMBED Equation.DSMT4  ��� or � EMBED Equation.DSMT4  ���


44. [8, 12]


46. True � EMBED Equation.DSMT4  ���


48. x > -2.67


50. x < 4.99


52. V(11,100)


54. 1.46


56. Complex roots appear in conjugate pairs (if…). Since there are 3 roots, there must be either 1 or 3 real roots. 


58. (a) A(x) = x (100 – 2x)


(c) D: x < 50 ft


     R: ?  A > 0, but we need to find the maximum area.. (d) See part (c) for domain


(e) x = � EMBED Equation.DSMT4  ���ft by


y = � EMBED Equation.DSMT4  ��� if A = 500 ft2


(f) � EMBED Equation.DSMT4  ���


60. (a) A = 4x (x + 45)


(c) D = Reals(?) but see (d)


(d) D: x >0


(e) 2.62 ft


62. I = .065x + .08(10000-x)


(c) I don’t like this… go to…


(d) D: � EMBED Equation.DSMT4  ���


(e) $2250 at 6.5%  & $7750


64. (a) V = x(20-2x)(25-2x)


(e) x = 4.527 & V = 1512 in3


66. (e) x = 2.83 in, V=758 in3
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